سؤال المنتدى الثالث:
اذا اعطيت التوزيع التكراري التالي فأجب عما يلي:

	الفئات 
	التكرارات  ( f)
	مراكز الفئات (xi)
	Fi × xi
	الفئات الفعليه
	التكرار المتجمع

	5- 9
	10
	7
	70
	4.5 – 9.5
	0

	10 – 14
	5
	12
	60
	9.5 – 14.5
	10

	15 – 19
	6
	17
	102
	14.5 – 19.5
	15

	20 – 24
	2
	22
	44
	19.5 – 24.5
	21

	25 - 29
	7
	27
	189
	24.5 – 29.5
	23

	
	
	
	
	
	30

	المجموع
	30
	
	
	
	


! . الوسط الحسابي
الحل : Ẍ=    =   = 15.5
___________________
2. الوسيط
الحل : M = D5 =P50
رتبه المئين 50          =  × 30  = 15
اذا الفئه المئينيه هي : 14.5 – 19.5
5  × M= 14.5 + 
M= 14.5 + 4.167 = 18.67
_______________________



3. العشير الاول 
الحل : D1 =P10
رتبه المئين 10          =  × 30  =  3
اذا الفئه المئينيه هي : 14.5  9.5 -
5  × M= 9.5 + 
M= 9.5 + 3 = 12.5
___________________
4 . المنوال التقريبي 
الحل : 10


                                                     تم بحمد الله ..  
 
